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Step 6 : Channel 33 tof-le vs tof-tot
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Step 6 : Channel 34 tof-le vs tof-tot
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Step 6 : Channel 35 tof-le vs tof-tot

10 15 20 25 30 35 40 45 50 55 60
tof-tot [ns] 

5−
4−

3−
2−
1−

0

1

2

3

4

5

to
f-

le
 [n

s]
 

Step 6 : Channel 35 tof-le vs tof-tot
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Step 6 : Channel 36 tof-le vs tof-tot

10 15 20 25 30 35 40 45 50 55 60
tof-tot [ns] 

5−
4−

3−
2−
1−

0

1

2

3

4

5

to
f-

le
 [n

s]
 

Step 6 : Channel 36 tof-le vs tof-tot
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Step 6 : TPC vs. VPD z Vertex using <East> & <West>
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Channel 1 : Slewing Correction Channel 1 : Slewing Correction 
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Channel 2 : Slewing Correction Channel 2 : Slewing Correction 

10 15 20 25 30 35 40 45 50 55 60
tof-tot [ns] 

5−
4−
3−
2−
1−
0

1

2

3

4

5

to
f-

le
 [n

s]
 

Channel 3 : Slewing Correction Channel 3 : Slewing Correction 
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Channel 4 : Slewing Correction Channel 4 : Slewing Correction 
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Channel 5 : Slewing Correction Channel 5 : Slewing Correction 
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